Dini’ Cr\? :

11 l;‘n e C Ai f"‘:{l"
L/‘—CW/GLQ%\S\M
N
0 3
{ 0

\) 0 Q ROVJZ\’ O
- 44 ~
& 0 0 _m{a
(V] C 0‘
0 d ¢ 0
0




der A) = (). 1) () = 0.
Soce ek A veeds do be divided through vohen

when det A =0 ‘(’Lu, laverse doesn t exrst _’/

We

to 74},{ 4‘/




PFOHBM ¢

B A
Anef=] = Y ’.f\ = NNt 2N HEC - (A-5) (03)*=0

= )\):3/, >\2:>\3:">

({ / >\ = E’ - Y
N — 2 —_ N b 2 - > = B
! ’ A7 2% Lf

A-Xi1= 2 - =5 ) — 0 ’/:7 ’—_7;
o2 oS \ o o 0 /

2f
é/wpg@ (X’::“ , ‘i’/le/t frzm« -:'?”XL - 'ﬁxé =D = X, =2
Tom  ~TK42¥2 3%, =0 = X, =|
— T
= )me" M =5 ) A = ( l 5 “l >

) Alﬁkg:/}
| 2 -3 ! 2 5
/‘l—/\ll—’-(l \f'é>"’">(0 o O
- 2 3 0 o0 O

Choose Xaz] Wa=0 . frm Xi+26-3X320 = %, = 72
Chorse Yaz0. Y=, - - - D K=3

— _,-Z .
= 7[07” Xy F Ny = 3 Xz:( | > | XE;((f)
v [




?/b é [@m é

,/\/)\1(:

(rs9-XN -sin(§

= \*-2mp A
sing GELN +l

DMNTMYtang 1 Nz @f-sn0

ol /\/: o h + SIKII.@ ’L
Aorl= <-m91 s\ < e 1 o >
GnQ -1 0 Y

5[

B XN = (B -¢ng 1

A-A] = ( g1 s ) _ [ ShE T —s5ng
anG s 1 O O )

3 5(1*:</
1




P awt 1
P /“O[)[Qm 1

%:40‘514])(

= 2w A | .
[/ Wxa Wl e the rowts 7( the oﬁwacféﬂv}?m‘c e?adﬁm

= The v/wzzcée/zﬂgﬁc QZWWL‘Z'M PN WZZO

= The ODE 4 y”qf—wly:()

(R LUK ) 714,(/)(
~WsinwWX W arwx

For Z/U#’O, % and % arg, //w{Meni’

W (coswx, ciwx) =

= WS wx+ s INWX =4

Pmél{&/fm 2
1= ¢~

Y, 2% KS 2B aduble T the charmtoritse optation

= The clarater-=tic o G I O\ TN A+ =0
The  ONS - ooy ‘
= g P~ RS y(’fi‘f}! er:O

% x
/{QA x fﬁ xXe L X 2X
wie , ne )’] < o O e = Xe
LC (Kije

= tnd ]f‘z. are.  ind '8/0 o / A




?“'(L T SN

——— e T (« ‘!" o S @

3
TR
dx’ A 0
3
Charadecistic en = A"~ A =0
A (A=1)=0

A (rtv)(A-y)=0
A=o0, A=-, A=|

Tl'lé 96#&’31. ]éfm o][' oluton 1S

- x
\/: Cleox’rcaex‘(‘Cse

2 Y = ¢, + cle’x +C3 e %
wt\b"& < C—'L . Cj aAre 0\"4.%)"&(‘{ [,ovl})‘an“f
L
dy
G TH1T0 v
Mot | Ik A he !
(5 ¥

Chorpekerive e T A2 _ oy
(x %—;)(k—l)-=0
A=-2 A=2
- -ax 2%
T\'\L jw &VW\ Of fn!uH‘D\/\ S Y"’C,e +(,.8€

y'b)= -3¢ + 20,

y(e)= 1

=) {Cf‘f(v_=\ =
-2G W =0 Q=™ 7

<o 'PLJLC’O\.AROV\ 1o the (~iRal  Volue ngb.m 'S
)

HAK&A
} - Low
(- ey pen (MR

"‘f/



L O ®

Poportly, e gp hoo & et
bnd 1S wnldue_ becanre  ant Ao w#umhﬂ

'q ws wy wWh
A Ao words, thare s no aMLﬂMﬁ any f"&)

4-'\{

4L
“z‘C, )

[ e fownd 72 )
\Xw](\ue\a dekermined (

ch&o.-“ & |
Bux | a ‘jw G  Cown be cher e Without Sg\u.,j 4(4,) )

- Limea oVE , ‘h{; the coeffraeals
w A ’\’\u/of_s{ “ Sods Aot o o ff‘

Sin
art.  Comkawous. Then dg, Soldion  enist Gmd S unique,
dl
1 Co,
Y = o5
So AY\I Al 5 \t
C45 =0 =2 A=t/

1S yh:: C, (=5 (JE%) -+ Cq_i!nh(f_;‘x)

u-€ss the r]cwm of- Yp 'ﬁ'r;f—/

ar {\)‘uh\oam yP’ e j
\M\AP_}U m‘n&J La»&f:f’lku‘ﬁ*\"" .
becawe 4 % mt ameng

To '6/\0)\ o t)orl\"cw(
Gnk  Then Lind  ow the

We 6\/&&5 ‘1‘, :Acqsx-e B SiaX

1/

P\V\é X wwho 'H'\‘. —27\(\'_ - ~Amx i gSI‘Ax
\iP' s ’AS\‘A)Q + %(/‘D/)(' , \{p‘ -

\/p"‘\‘g‘fp: éf\wﬁ% "BS“/\)()‘\-S'(/A'WM "BJ/‘»\;.)
h eo *’b\mo&d\ the Q\‘\}‘THMS“J,L (X .

L
=" b

So, (- A —SA =\ 5 A
"%’SE)’O R=0o




200 Ype-p ey
SO, MW ebrm 0& J’D'V\-}‘\OV\ S y: )IA . )/p

=2 y = Cl css ()I'ﬁ) + (1 Sin (,/?)()Q—ZLCOS)(
l/é\f\.u-{, C, , o o&ve o..fbi(’ﬂ%/j Cows Fonmts

choratiritic egn . AT-4 =0 = (AtP)-2)=o D A2 AT

_x
+ (2 € (22

/AOW\—?M-&OM (pam")
Nete the Rl\jm— howod cihe 75 xe  and the  Nuwmber "

> n
In ’H’\»Q/ W&Ww—oﬂk 'S Ov\f;o‘g dhe  SsluKons e C)rla\r&‘l'ﬁﬂs& ’7

. . o ook I e
theon We old ju.e,i_( o ?ar“\(‘,m(b( (olwNon shawld

Vo= A S A pxe?
A s g
P\W‘S &j % 2 ﬁlx
o = AN N Be  « 20K
\P -—

1%
1\ * $€1 + 4/\*6 +4.A$€
Yo = 2A et o+ kA c2pett 2Be? +48x3’°

:(4_5_‘_1»)&’—7}%% A\*Q"Y‘ + uAYE s
AN Q&zA 4—8ng)*€ *WK'-*

- qy/@* - 4B ¥ a

= (pero)e t+ BA xe"
hats 1o mteh . Biht Hand s5le- x €%




Tl'\a J{nmi’- form\ of Solution 1S 7/; )/A + )/P

- -ix X 2
2 Y= e " t(e +ZLXCZX_7'Z7<C7X

AX)_ -+ ‘I = ,Z,S;n)(
N+l o D A= T

5 Yn= Gt (x) + Casinfx)

Yp= Axsix t Bx X

YPl = AS“U\X + Ax s X
+ B X BX Sy

v, = Atesx + Aok - Axsax +-Bgny - BSimy - B«
ny - B & cox

\/P Yy 2 lAura'X ~ 6/5’>< — 285K - %74>

+ (A ¥ + BAX
T W\u)’d’\ 'f’&\.(, jk ‘\w«o( JIA{ /;fnf)

2A=0 A=0
{ = > o= - KX

-26=12 b=
T foneat form of solubon 35 Y= Vo e

=) \1 Q (bt Gulinl - KXoy X




Vow | we the Bl tondiFon  *o dtemmne €, and (o
Je)= & +0-0 =
Y(K) = -CiSiaX + Gt X = X + KSinx
)'/(0) = 0 + Lz o 40 = Co —|

M ot b werh  YOY=1, YY0)=0

So { C( :\ > C['Z-f

Ce =\ = O C,q,r«)

$o, J"1\4, JolalNon TLM‘_W\“;FY Ho reiRal Hmhre (ond Ao

A R




g i NTRARE
| aY-
Ak R ®
Y (0)= B
HOE o

ET" © 9 @ Aan ﬁ?uivu\em& Yo
Y Ay
Ax A

QT(S\’ %/\a ’\)\/UL UJDV\M\V\QS &V\ol g,sw\/(dod a§ A

dex (P)\ ' \ g L\"\\(»L->\> - o

S AN

2 a-12. 70
N D N =Nt A

()\ 1'4) (A=3) =0

A= -4, A=3
For )\‘-’Lf' : Y 2 5 [X'>'—‘D > S¥1 + 2/ =0
( O -xty X YK\+1><1=01
'Z_\(L -—fxt.
5 = TE =)
X2
-7/ y
-=7 ] 1§ an @*&)AW Correape ‘j
l B x=-




@
Tor A=3: P =3 YA X, -6 > { “2¥y + 2%2 =0
Kx, 5, ¥4 =0

XL __%(”) BQM&KQ"UQI/L"V

)(’L O.n’r'eo]’)fw&l:j
b A=3
val Ss[uRbA 1S
So) ’Huz, n“(?'/r"“f
J ﬁb"{ » -z . Cch( (
' _ ¥Y¥= C = + (2
(YL B Y 1 € [ |
: (et (-F) + e
(- &. \/la ) (
1 i le.-” + CLﬁB}
' LR A 3%
e fietae e N e
o 'Lauﬁ
rhivary
Yy = Le ™ 4 ¢, e’ orb 7

N f o \9& ACW/‘“MD(
o te i omeliom B g G G €

o) -FaT e

Yo [o)= Cf + Co 2B

b)= 1(0 =
Tl“'a e, Yo vsth w2, Va9
Sre 4l =2 S %«%m‘!—cfz
€ _ ('_Lc?r-(.'
¢, t¢ =19

2 =5 ¢>61=4
.;) _,-;:-(" :-'7 ’9 t

So o soluNon  taafsahs e thhal tondchon, 1S
)

~ - 3 P uhl Me\
E - QJ" 4’4}'6“ ! \/,f' 5¢ +r tlie )(/ soluhon .




R, o
A= |3 0 2 Y:(YL e %ﬁ AY
0 2 3 . .
o S 4 ’

Aa,u‘m we need to fxd M%’wm e "8“‘“””‘50{/1

—2- 3
<3—/\ o 2 (3-)\) dd( 2\ )
Aok o ~2-A 3 = ' s “¥-X

0 S
;(1’)&'1—)\\ (-4 -2) —’S—J :(3')\)(’\2+6’\ ”"’Jj
=(3—)\) (A% 6x-T7) =63 (Ax1) O =
AN=13 . A= -7, A=)
ZX-S:O KJ:O
%Y x=3 . ( 3—; o T );l - 5 _r\‘z,rBXJ:o :) fir<o
o -2-3 3 XL) ¥ —T%3=0 )(l=A»JfL“j
o 5 -3

) -

X \ . 5 a2l oavedtr (v gs

5, (3) /a»el th Pav\\wlﬁf, (?) j )
X

- Y= - 3%
Br A= -] 1t o 2 X, lox +3K3=0 N ! .
( 0 3 ()ﬁx ) iﬂl + 3%3=0 2 =Y
o S w1\ §ky t3Xs=0
\
‘;LKK —/J_ 3 Gn 4 Ve
Sb) ’%’XS OAWOL '\\n YNA'“W\&( '%" (4\{ )\:—7
Ay ' t
R 2=y P71 o 2 . et zhre Ki=-Xy
© -3 (xl "o o) etz D
A Kk - $Ky=o K=Ky

e -y R ~ _ |
| M [ e (: S o e o 42

- %
s ﬁ’c,e“( %5 e (‘;}) + et {"\) 3 thy generl formof 5efusro

/ /




Convert ﬂ\e thglf— Second - order  oDE

2
Ay
axt -4y =0
mto QG —frrf’f‘—dvda‘ ODE ;ﬁgm
N
Letr 21 _ w
Ax T~ z
4 dn
dz . ('}\( @ L&M 3 =
+L‘“”;1§——7(1=4‘\/[ 2‘774\{
= dz
de =/ \4 o]
A = 4Y

T e e {«a,zv\uu,lu-t/) awol ujk»wtd‘wf’ °f A
A= ‘j
4 ©
[ O (-2 (-A) - :
4 ) = L‘ = )\ ——4. =0
0-N\

()\4"2.) C)&’Z‘):: [o)
)\’:—?_ g /\';2\

Be A=-2 . (o-(—?.) \ \) ,) L, o X0
¢ 0'('2') G '3 Y +2 X170




Y’ ¢, {-zx

2 =ac, e

50, \I'-'-

. ,,\ (X; )A 0 >> 2%\ + XL =0
o [V | $X, - 2% =0

E )52,?,27‘\ > ( "> (> 3 o ‘Q&QAAJ‘QC‘\YY ,,

- ,\ 2

‘f'lflze\;~

Bt we  amt ahk\j Wrereaked. i sa'v’U fr Y.

(1 """‘j : amc_.‘,l(f\uj tn this cwt)

Cond e ffowd, vt fiw-ﬂw«em the realt we

in problu~m 2 bd o!.nd{:} s-mj l’iecj"\,,_




P/’DH&M tl-

o= m |
- ﬂm-\—l _ (m+l)!
am m! —Mtl— 0 4t mo




}:{: ,:.Z;O Am /Xm
I o0 -—-l
ﬁ:mf:\ma’"xm
y'; zxj
X —axS A", et
= LK 5 I ;ZXM:O ion X :'mzozﬂm%
o0 §‘H X S‘H
> d, ‘)“S:zo (§+7-)0\§+27< — *;SO 24 X

=2 =0 , (fﬁ)ﬂ&zizas

Ao
2 fann =0, =4, %:g—z:ﬁ% de;"@r': ET
2, R 9((72 S x* 3 '
= )20 (HX T 2457+ )= d. e
Problepn. 14
:DO m n o m-2
J mz'»o U X , —’—m%lm(m”) am X
ﬂu—kﬂ:O,
S i) X" E A x™ =0
> I omm ) an Xz O
T S—_ &, x5
= 2, 1) EH ) A X =- 2 U
= (Y (D o2 = — (g
- do ,___6_1_0_ a av a
7 bETii=or, ey bp=qr Q5=
7 Ao
= U: aO“’atx—%xlf?;‘?(g’f"qjX"L«f%’x;/ﬁ“
2 frao-Fyx I .c
J2t (m 2 ) a(x L2

= do s K +q, sinX




Problom 15

o7
7: oio a”"xm , V:,;]Z:g Mﬂm%

=0
f'= Y X
= m"// © W
= 2 M X" = 2 gy X

m-—|

oo S
@;’(S-H)a X = Ao , <
2 T ety + @) Xt2 dg x>
= aijaol 20, = O],-H:ao_” (= a- Aot|

& — ———

3 T 73
> V=040, x + —2—_’-(ao+|) A -3-1; (Got)5¢ .
= (0.41) - X~ |

Pr oblem | 6

For Fazz”t”t'if& A=v*

a ﬁeﬂ,ef’a( fohf‘z/’?ﬁﬂ 7%? y ”7‘)\ 7, 0 %

y(x)‘: Acosy X +P sin VX
Jloy=o0 > A=0

105)= Bsnsy=0 o LV=nT = y. N0

¢ . N=41] ¢,

=S W= = (N
9)\*1/*('“{"‘)1 (n:i,z,.~-> (AWV//I:‘/,’Z

_ B (4]
ke B2 Yoo K,y




Problem '7
for positive x=y?
1 i@nr’}/t/z[ ¢ oémg"v%?/\ 7[7”” i a 70 3
Yrx)=4 cox VXA Bsipyx
y‘/o):o = A=0

y/(L): ng@yé =) = )/[: 21t

> T
_oo2ntl 2
= V= 27 L= A=V = _Zlg%ﬂ)l (/1:0,/)2,‘..>
{ake P=| > wax):.;;h(zzf T 7() (A=0.1,2,- )
f? /"Dé[@fﬂ 1§

For /)mfﬂfe N

a j@n@-m( Solut o fuf ﬁﬁw‘/\ T=0
JX)= A e VXt B Vx

7(0);7(211’) = A= A o AWV AE sinzmyy )

= VA sinany vk Wy 2
d) X AV + 2) xR

Z (A= (KA o 2mry

2 oz 2N =1

P 2My==211n = =

(n=0.1,2. )

= Jo=1, U = w3y , SIMAX L p= 2 .-
( y n (e @07@71 %’W?’(‘ / 45/’55)




